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O g 223 S 500,000& = 14 500
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Al 69
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X 6,730
< 505
Al 1,165
01 = LH 4 4l 8,400 0 8,400
O a4c=s A4=0ts =228 d=HAa 29 2
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O 2204l 30,000 = 2% = 100 6,000
Xl 4,807
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Al 832
O 20l 20,0004 = 2H « 603l 2,400
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0O 352 134,725
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01 AL EFFHSHI 2,000 165,200 A 163,200
O oz &Ed 7 2,000
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HE: HYRIFH (ALSAD)
¢l =gl CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
O S&&EHA 2T oHU AIZ2E
110,000 * 12= 1,320
O GPS RAXF=HI| SM = 50,000& * 12& 600
O S4AHEY oIl ¢ X2
30,0008 * 12€ 360
O A& & Hl S XYl 9,124
O ALS&Y AlEEH A2
200,000& = 1004 2,000
O gAIE EHEH sA22 Yl
2,000,000& = 1CH 2,000
O PACS ATEN SXNES
330,0008 = 12& 3,960
O s8&EH 82T S22l
300,000& = 1CH 300
OFUNEBEAHHE., LA HLD| 2E
36,000& * 204 ~ 12&€ 864
202 044l 5,880 5,880 0
01 2L HI 5,880 5,880 0
0 2220 20,000& = 218 * 143 5,880
203 € R F &l 4,200 4,200 0
04 EASHEYRFAH| 4,200 4,200 0
O A2ds8 350,000&  12& 4,200
204 = 2 4= A H| 1,200 1,200 0
01 &S AR AHH| 1,200 1,200 0
O A8 & 100,000 * 12& 1,200
405 XHA&HF S HI 1,700 0 1,700
01 XA 2 ZF S| 1,700 0 1,700
O gaxed =87 1,700
O doeasdlX 600,000 * 2CH 1,200
O & XE X 250,000 = 2CH 500
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